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Mpumep 1

module M(input wire x, y, output wire u, v);

assign u = x && y || !x && 'y;
assign v = lu;
endmodule
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Mpumep 2

module M(input wire [1:0] x, input wire vy,
output wire [1:0] u);

assign {ul0], ul1l} = x ~ {x[0], y};
endmodule
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Mpumep 3
Peannsaums cymmaTopa TpéxpaspsiaHbix ymcen:t

module adder_cell(input wire x, y, cin,
output wire sum, cout);
assign {cout, sum} = x + y + cin;
endmodule

module adder (input wire [2:0] x, y, output wire [3:0] z);
adder_cell celll(.x(x[0]), .y(y[0]), .cin(1°b0),
.sum(z[0]), .cout(cl)); // 2
adder_cell cell2(.x(x[1]1), .y(y[1]1), .cin(cl),
.sum(z[1]), .cout(c2));
adder_cell cell3(.x(x[2]), .y(y[2]), .cin(c2),
.sum(z[2]), .cout(z[3]));
endmodule
1 He peanunsyiiTe cymmaTop Tak!
2710 NPOCTO AEMOHCTpPaUnA BO3MOXXHOCTEl s13blKa

2 BHUMAHWE! Kaxxaasi HeobbsABAEHHAs! TOYKA 110 ONpeAENEHNIO UMEET TUN wire —
B TOM 4HuCne TOYKM cl n c2
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